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Question 1
Question Type: MultipleChoice

Which four are true about performing Tablespace Point -In-Time Recovery (TSPITR) using Recovery Manager (RMAN)?

Options: 
A) It can be performed using an auxiliary instance managed by a DBA.

B) It can be used to recover a truncated table.

C) RMAN automatically adds any required tablespaces to the recovery set to make it self-contained.

D) RMAN always includes tablespaces containing undo segments in the recovery set.

E) It can be performed repeatedly until the correct time is found without using an RMAN catalog.

F) flashback database must be enabled for it to work.

G) It can be used to recover a dropped tablespace.

H) It can be performed using an auxiliary instance managed by RMAN.

Answer: 
A, E, F, H



Question 2
Question Type: MultipleChoice

Which two are true about an Oracle gold image-based installation in Oracle 18c and later releases? (Choose

two.)

Options: 
A) It can be used for both Oracle Database and Oracle Grid Infrastructure installation.

B) It can only install and configure Oracle Database software. The database has to be created separately.

C) It does not require the setup wizard.

D) It uses a single RPM that automatically extracts and installs the Oracle Database software.

E) It can be used to install and upgrade Oracle Database for single-instance and cluster configurations.

Answer: 
A, E

Question 3



Question Type: MultipleChoice

Examine this configuration:

1. CDB1 is a container database running in archivelog mode.

2. Multiple uncommitted transactions are running in CDB1.

3. Redo log groups 1 and 2 are inactive.

4. Redo log group 3 is the current group.

All members of redo log group 3 are lost before it is archived. Examine these possible steps:

1. SHUTDOWN ABORT

2. STARTUP NOMOUNT

3. STARTUP MOUNT

4. ALTER DATABASE MOUNT

5. RESTORE DATABASE

6. RECOVER DATABASE NOREDO

7. RECOVER DATABASE UNTIL AVAILABLE

8. RESTORE ARCHIVELOG ALL



9. ALTER DATABASE OPEN

10. ALTER DATABASE OPEN RESETLOGS

Choose the minimum required steps in the correct order to recover the database.

Options: 
A) 1, 3, 5, 6, 10

B) 1, 3, 5, 8, 6, 10

C) 1, 3, 5, 6, 9

D) 1, 3, 5, 6, 10

E) 1, 2, 5, 7, 4, 10

F) 1, 3, 5, 7, 10

Answer: 
D

Question 4
Question Type: MultipleChoice



Your CDB has two regular PDBs as well as one application container with two application PDBs and an application seed

No changes have been made to the standard PDB$SEED.

How many default temporary tablespaces can be assigned in the CDB?

Options: 
A) three

B) eight

C) seven

D) six

E) five

Answer: 
C

Question 5
Question Type: MultipleChoice



On the 10th of August, you implement an incremental database backup strategy and configure a recovery window of five days.

Level 0 backups are taken on the 10th, 17th, and 24th of August.

Differential level 1 incremental backups are taken daily between the level 0 backups.

Today is the 26th of August.

Which backups will be obsolete?

Options: 
A) all backups prior to 10th of August

B) all backups prior to 22nd of August

C) all backups prior to 24th of August

D) all backups prior to 20th of August

E) all backups prior to 17th of August

Answer: 
C



Question 6
Question Type: MultipleChoice

Which should be tuned first when doing a performance tuning exercise for an Oracle Database environment?

Options: 
A) SQL statements

B) log writer performance

C) general operating system health

D) database writer performance

E) database instance memory management and sizes

Answer: 
A

Question 7
Question Type: MultipleChoice



The HR_ROOT application container must support the execution of a query on a table shared by application

local PDBs PDB1 and PDB2, and remote PDB PDB3.

Which three are true? (Choose three.)

Options: 
A) A proxy PDB must exist in the application root in the remote CDB.

B) A database link must exist in the local CDB root referring to the remote CDB.

C) PDB3's application root replica must exist in the local CDB.

D) A database link must exist in the remote CDB referring to the local CDB.

E) The HR_ROOT replica must exist in the remote CDB.

F) A proxy PDB must exist in the application root in the local CDB.

Answer: 
D, E, F

Question 8



Question Type: MultipleChoice

Which two are true about poorly performing SQL statements and their tuning in Oracle database instances?

(Choose two.)

Options: 
A) SQL statements performing many physical I/Os can always have their performance improved by creating

indexes.

B) SQL statements doing only logical reads never require tuning because they do no physical I/O.

C) The solution that best optimizes one SQL statement can degrade the performance of others.

D) SQL statements doing joins always do more physical I/O than single table queries.

E) Poorly performing SQL statements can be tuned automatically by the Oracle server.

Answer: 
B, E

Question 9
Question Type: MultipleChoice



Which two are true about Rapid Home Provisioning of Oracle software? (Choose two.)

Options: 
A) It can be used for applications and middleware.

B) It can be used only for Oracle Grid Infrastructure, excluding Oracle Restart.

C) It can be used only for Oracle Grid Infrastructure, including Oracle Restart.

D) It can be used for both Oracle Database and Oracle Grid Infrastructure, including Oracle Restart.

E) It can be used for both Oracle Database and Oracle Grid Infrastructure, excluding Oracle Restart.

Reference https://docs.oracle.com/en/database/oracle/oracle-database/12.2/cwadd/rapid-homeprovisioning.

html#GUID-CCEC5960-EDA4-4A3F-9643-0CA308EA49AA

Answer: 
B, E

Question 10
Question Type: MultipleChoice



Your database is in ARCHIVELOG mode and you plan to use Flashback Database.

Which two features or parameters manage space availability in the fast recovery area? (Choose two.)

Options: 
A) the archived log deletion policy

B) the backup optimization policy

C) the backup retention policy

D) using guaranteed UNDO retention

E) the DB_CREATE_ONLINE_LOG_DEST_n parameter setting

F) the DB_RECOVERY_FILE_DEST parameter setting

Answer: 
C, E

Question 11
Question Type: MultipleChoice



Which three capabilities require the use of the RMAN recovery catalog? (Choose three.)

Options: 
A) using the KEEP FOREVER clause with the BACKUP command

B) using RMAN stored scripts

C) using the REPORT SCHEMA command to list a database's current data files and tablespaces

D) creating customized reports about a single database's backups

E) creating encrypted backups

F) using the REPORT SCHEMA command to list a database's data files and tablespaces at times in the past

Answer: 
A, B, C

Explanation: 

html#GUID-2491887B-D9AC-48BE-914D-CB0341A77057



Question 12
Question Type: MultipleChoice

Which two are true about the automatic execution of operating system scripts when performing silent mode

installation starting from Oracle Database 19c? (Choose two.)

Options: 
A) The response file can specify the root or sudo password.

B) The installer will prompt for the root or sudo password.

C) Silent install always runs operating scripts automatically.

D) The response file must contain the root or sudo password.

E) The response file can specify the path of the sudo program.

Answer: 
D, E

Explanation: 
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